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Q1: Encircle the correct option: 1x5=5
1.”Narrated" means:
a) Tell b) hate c) duff d) Difficulty
2. Honest"™ means:
a) humble b)truthful C)easy d)difficult
3.Synonym of “Emit" is:
a) Small b)give out c)Create d) destroy
4.”Dedication” means:
a) asked b) want €) commitment d)none of these
5.Meaning of "Thrill® is:
a) Famous b) To excite ¢) to find out d) to lose
Q2: Choose correct form of verb according to sentence. 1x10=10
1. He e . to us tomorrow
a) Comes b)will come C) come d) had come
2. lwill..... . You with your homework if | can.
a) helps b) help c) helped d) helping
3. Good students always.............. . Hard.
a) Work b) works c) working d) is worked
4. She ... to school an hour ago.
a) Go b) gone c) went d) going
5. They have ... their meal.
a) take b) taken c) taking d) took
6. Itisvery ----------- book.

a) interesting

b) Interested

c) having interesting

d) none of the these

Q)ML}S),-}L)‘)‘M‘%



7. Heisawell -------- person.

a)Read b) reading

8. - the car, he went to a restaurant.
b) Parked b) parking

9. Ali --------mmmmmee- Fast
a)Run b) ran

10.. The cook has ------------ delicious dishes.
a)Cooked b) cooks

¢) have reading

c) have parked

c) went

c)cooking

Q3: Choose correct Parts of speech to complete the sentence.

d) none of the these

d) none of these

d) going

d)have cooked

1x10=10

1. Heeats----------- live.
a) On b) to c)in d) at
2. Aslam ------------ paid his dues.
a) Himself b) herself c) myself d) none of these
3. lam-------- university students.
a) a b) an c) the d) that
4. He goestojamiain --------- morning.
a) A b) an c) the d) for
5. lTam----------- Karachi.
a) to b) from c) the d) an
6. The rich should help --------- poor
a) a b) an c) the d) of
7. llive ----coemmeeeeeee Faisalabad
a) In b) at c) to d) the
8. The Childrenran -------------- the flower.
a) Upon b) below c) beside d) smart
9. He came back --------- he wanted to see me
a) Because b) than c) but d) if
10.The teacher is ------------- the class room.
a) in b) on c) of d) at
2 b G350 0 15
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Q#1: Answer any five of the following questions. 5x2=10
(1)Describe the physical condition of old man? (2)How do sports benefit one’s mind?
(3)How can we spend a happy life? (4)What is the very essence of discipline?
(5)What qualities should a nurse possess? (6)How can a laborer be a patriot?

(7)What is the role of optimism in one’s life?

Q#2: Read this passage carefully and answer any 10 questions. (2x10=20)

(a) Today a nurse gets proper education and training before entering into this profession. During her training she is
thought how to give medicine and food to patients, how to know about their problems and how to serve them in
the best possible ways. She has to be very punctual and active in her work.

(b) Being the responsible citizen we ought to formulate new principles of morality which would readjust our relationship
with environment and modern technology. We have to establish and maintain a beneficial relationship with the rest
of the nature, so that we could not only preserve nature, but also make the best of science and technology.

(C) Armed force, police, boy scouts and girls guide are the best examples of discipline. Games or sports are also
played in accordance with certain rules and

Regulation and players have to obey these rules and regulation. If a player violates any rule, he is penalized.

Q#3: Write down only one summary of the following poems. ”Hope is the thing with feathers"/The man of upright .10

Q4: Change the following sentences into active and passive (only ten) 10x1=10
(1)My mother teaches me. (2)Police arrest the culprits.  (3)Do i advise him to come in time?
(4)I ate apple in the morning. (5)We won the match. (6)Ali will soon build a new house.
(7)1 am reading a book. (8)He isreciting the Holy Quran. (9)They are taking lunch now.
(10)I have paid my loan. (11) He has done his work. (12) Take the medicine
Q#5: Write only one Letter from the following letters: 10

Write a letter to mother about the test you have just taken .(OR)Write a letter to your uncle thanking for gift of watch.

Q4: Change the following sentences into negative and interrogative.(Any 10) 10x1=10
(1)l am Pakistani girl. (change into negative) (2)We were all happy. (change into negative)
(3)1 am fifteen-years old. (change into negative) (4)We won the match..(change into negative)

(5)These books were interesting. (change into negative) (6)The beggar was lame. (change into negative)

(7)The horse has four legs (change into interrogative) (8)These are red flowers. (change into interrogative)

(9)The wateris cold. (change into interrogative) (10)He had a stick in his band. (change into interrogative)

(11)They had honey. (change into interrogative) (12)The goats were running. (change into interrogative)
Q#7: Translate any 15 sentences into English of the following. 15

_uzuf¢,}ﬂz’é_u’!_4 _u‘?(//ngs u%(jjjk.é—&%'%’u:‘<2 ‘gu”mg!ﬁ‘uw/g_l
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Qi#1: Encircle the synonyms of the following words: (5x1=5)

01: Firm:

(a) powerful (b) persistent (c) expensive

02: Innovative:

(a) dull (b) smart (c) creative
03: Magnitude:

(a) celebration (b) effect (c) problem
04: Conquer:

(a) battle (b) win (c) loss

05: Confessed:

(a) confuse (b) refuse (c) to admit

Q#2: Choose correct form of verb according to sentence.

01: | hope you a good health now.

(a) enjoys (b) were enjoying (c) has enjoyed
02: 1| for him for two hours.

(a) waited (b) will wait (c) had waited
03: Let us Madani Channel.

(a) watch (b) should watch  (c) watched

04: The teacher

(a) is advised
05: She
(a) leave

06: Hard work never

(a) go
07: He just

(a) go
08: The police

(a) arresting

them to come in time.

(b) advised

(b) is leaving

waste.

(b) goes

out.

(b) went
the thief.

(b) is arrested

(c) advising

for Karachi tomorrow.

(c) left

(c) is going

(c) gone

(c) was arrested

(d) fabulous

(d) reward

(d) mankind

(d) courage

(d) strength
(10x1=10)

(d) will be enjoying

(d) have been waiting

(d) to watch

(d) have advise

(d) leaving

(d) will going

(d) will go

(d) arrested

@M[QS)’QU)‘M‘%



09: They were afraid of the truth.

(a) tell (b) to tell (c) telling
10: It was in the storm.
(a) break (b) breaking (c) broken

Q#3: Choose correct option according to grammar.

01: He is ashamed his action.

(a) on (b) at (c) of
02: She does not care me.

(@) on (b) about (c) from

03: He is a lazy boy. Underlined word is a/an:
(a) noun (b) adverb (c) pronoun

04: She speaks loudly. Underlined word is a/an:

(a) pronoun (b) adjective (c) adverb
05: He invited me at dinner.
(a)a (b) the (c) an

06: He is the boy who stole my pen. Underlined word is a/an:

(@) noun (b) pronoun (c) verb
07: They were angry me.

(a) on (b) at (c)in
08: Be careful you should be deceived.

(a) if (b) when (c) lest

(d) tells

(d) have broken
(10x1=10)

(d) over

(d) of

(d) adjective

(d) verb

(d) or

(d) article

(d) for

(d) wether

09: Wow! What a nice journey! The underlined word is an interjection expressing

(a) hesitation (b) doubt (c) amazement
10: The secret is you and me.
(a)in (b) between (c) on

(d) surprise

(d) into

2 b G350 0 15
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Subjective
Q#1: Answer the following questions. (Any 5) (5x2=10)
1. How did the Rasool(#8) set high and noble ideals for all mankind?
2. What is meant by right profession? 3. How can career counsellors help the young people?
4. Why did the old man hurl a stone at the camel? 5. Why were Shaba’s (es Ul (92)) worried?
6. What should your first aid kit consist? 7. Why is it necessary to keep away soap from the wound?
Q#2: Translate into Urdu. (Any 2) (2x5=10)

1. During the Sermon, an Ansari seeing some men from the tribe of Banu Tha’lba sitting there stood up and
pointed toward them and said: Oh, Rasool of Allah! Their ancestors killed a member of our family. We
appeal to you to get one of them hanged in exchange for that.” Hazrat Muhammad (#8) replied, “The
revenge of the father cannot be taken on his son.”

2. We all need help at times in our lives. Sometimes we may have accidents and we may get hurt. When
we are injured or suddenly become unwell, we need someone to help up someone who knows what to do.
It is the temporary and immediate help. This timely assistance, comprising simple medical techniques is
most critical to the victims and is often lifesaving.

3. On hearing these words, the audience present in the court gave cries of joy and applause and the face of
the Caliph beamed with pleasure as he said. “Young men, the blood money will be paid to you from the
people’s Treasury, and Allah will reward you for this goodness on the Day of judgment.” Accusers:
Commander of the Faithful, we forgive him as forgiveness is divine.

Q#3: Write down summary of poem. (Any 1) (10)
1) “Try Again” (OR) 2) “The Rain”
Q#4: Change into Negative & Interrogative. (Any 10) (10x1=10)
1. | eat food daily. (Change into negative)
2. She worked hard. (Change into negative)
3. They are taking breakfast. (Change into negative)
4. He will have gone to bed by 10 pm. (Change into negative)
5. | have been playing since 2 pm. (Change into negative)
6. He has written a letter to his parents. (Change into negative)
7. | shall help you soon. (Change into interrogative)
8. We completed our task last week. (Change into interrogative)
9. He is absent. (Change into interrogative)
10. You are wasting your time. (Change into interrogative)
11. She has always been a good student. (Change into interrogative)
12. | have heared a latest news about her. (Change into interrogative)
Qi#5: Write an essay from the given topic. (Any 1) (10)
1) My Country 2) My Ambition 3) Courtesy
Q#6: Change the following sentences into indirect speech. (Any 10) (10x1=10)
1. He says to me, “You are present in the function.” 2. She will say, “ am hungry.”
3. He said to me, “Allah is one.” 4. My mother said to me, “You should take breakfast.”
5. He said to me, “l act upon your advice.” 6. He said, “How are you, my friend?”
7. She said, “Your sister is coming now.” 8. | told her, “You have done well.”
9. He said, “Good morning, sir.” 10. She said to me, “l teach you English.”
11. | said, “Why are you laughing?” 12. She said, “Do not follow me.”
Q#7: Translate the passage into English. (Any 1) (15)

Sonldte o Flledo o di8i WinF e & E g 8UJs 28 pnt LS wf et Audhe 2 -1
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Q#1: Choose the correct answer: (25x1=25)
01. Means “find a solution.”
(a) resolve (b) solve (c) rags (d) mingle
02. meaning “old.”
(a) aged (b) grieve (c) mar (d) accents

03. Meaning of “Accent” is:

(a) tone of voice (b) spoil (c) old
04. They to school yesterday.
(a) goes (b) went (c) gone

05. A place that people go for holiday is called:
(a) resort (b) summit (c) incense

06. “Rough natural” meaning:

(a) rugged (b) canopy (c) souvenirs
07. Gradually means:

(a) slowly (b) fastly (c) recently
08. We use helping verb in present perfect tense.
(a) had (b) has (c) have been
09. | am going the shop to buy some greenery.

(a) to (b) past (c) around
10. Let’s walk the forest.

(a) under (b) over (c) through
11. Be careful when you walk the street.

(a) through (b) above (c) across

12. The car is going the tunnel to reach the station.

(a) around (b) below (c) at

(d) loud

(d) go

(d) vantage

(d) detour

(d) absolutely

(d) had been

(d) over

(d) past

(d) up

(d) through

1] SO Y



13. The van stopped the hospital.

(a) due to (b) in front of (c) in case of
14. Meaning of “harsh” is:
(a) rude (b) spoil (c) tired
15. Meaning of “untoward” is:

(a) unexpected (b) very important  (c) causing death
16. “option” meaning:
(a) difficult

17. The main idea

(b) choice (c) attempt

the poem is to speak gently.

(a)is (b) of (c) the
18. means old, torn clothes.

(a) rags (b) resolve (c) claims
19. She sew the clothes. (Correct the verb)

(a) sews (b) sewing (c) sewed

20. Which sentence is correct?

(a) You are sweeping the  (b) You is sweeping (c) You had

room the room sweeping the room
21. We use from of verb in present indefinite.
(a) 1st (b) 2nd (c) 3rd

22. Speak gently is best habit. (Underline word is:)

(a) verb (b) adverb (c) adjective

23. He lives in Karachi. (Correct the verb)

(a) live (b) living (c) leaves
24. Teacher is the English.

(a) taught (b) teach (c) teaching
25. You tired.

(@) am (b) is (c) are

(d) because

(d) kindly

(d) addition thing

(d) protect

(d) from

(d) certain

(d) sewipt

(d) You have sweeping

the room

(d) 4th

(d) noun

(d) leaving

(d) teaches

(d) was

2 et 500 LS
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Subjective
Q#1: Write the answer of the following questions: (Any 5)
. What was Caliph Haroon-ur-Rashid known and respected for?

. Which two great saints are mentioned in the tent?

. Why is Gorakh Hills a good place for a holiday?

. Why did Asif and his family have to sleep in a tent?

. What two important safety measures can save people’s lives?
. What happens when a car stops suddenly?

Q#2: Translate into Urdu: (Any 2)
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(5x2=10)

(2x5=10)

1. Caliph Haroon-ur-Rashid was very popular with his people. He was very concerned about their problems and
their welfare. At night, he would disguise himself as a common man and go through the streets of Baghdad.

2. Speak gently; it is better far.
Speak gently; let no harsh words mar.

To rule by love than fear.
The good we may do here.

3. Traveling is a way of reconnecting with nature and, most importantly, with our selves. My trip to the
Gorakh Hills station was one such experience. Knowing my love for travel, my parents broke the news two

days before my birthday.

Q#3: Write down summary of poem. (Anyl)
1) “Speak Gently”
Q#4: Change into negative & interrogative. (Any 10)

1. | go for a walk daily.
. Am | reading a book?

2

3. The teacher has called the rou.

4. The child has been crying for an hour.
5. | ate an apple in the morning.

6. | was also watching Madani channel.
7
8

. We had reached home.

. She had been studying since 5 pm.

©

He will stay at home.
10. | will help you.

11. She will be eating a cake.
12. He will have gone to bed before 10 pm.
Q#5: Write an essay from the given topics. (Any 1)

2) “King Bruce”

(Change into negative)
(Change into interrogative)
(Change into negative)
(Change into interrogative)
(Change into negative)
(Change into interrogative)
(Change into negative)
(Change into interrogative)
(Change into negative)
(Change into interrogative)
(Change into negative)
(Change into interrogative)

1) Need and importance of Muslim 2) Value of Discipline in life  3) The Book I like
Qi#t6: Change the following sentences into indirect speech. (Any 10)
2. He said, “I liked your present.”

1. | told her “You have done well.”
3. They said “The man will come.”
5. She said to me. “May you succeed.”
7. Mother said to her son, “Work hard or else you will fail.”

4. He said “1 will be there.”

8. The teacher said to the student, “Do not talk during the assembly.”
9. The doctor said to the patient, “Take your medicines on time.”

10. They said to me, “You are going to school.”
11. You said “He is intelligent.”
Q#7: Translate into English: (Any 15)
<4—L/]/u_dﬂv“ ._«(Lul/u -3
-c,ufu“ i1 -6
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(10)

(10x1=10)

(10)

(10x1=10)

6. She said to her maid, “Bring me a glass of water.”

12. He said to you, “You have done work.”

<¢wu“wfmgjm, -2
“aw/u}(uﬂ.‘! -5
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(1x15=15)
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Q#1: Encircle the correct option: (25x1=25)
01. would be a synonym of status.
(a) city (b) country (c) village (d) town
02. would be a synonym of emphasis.

(a) importance

(b) mission (c) purpose

(d) none of these

03. would be a synonym of quarry.
(a)sand (b)water (c)solid (d)gas
04. would be a synonym of demonstrate.
(a) show (b) reveal (c) prove (d) all of these
05. would be a synonym of destination.
(a) target (b) goal (c) aim (d) all of these
06.The sun in the west. Choose correct form of verb.
(a) set (b) to set (c) sets (d) setting
07. He at the top of the K2. Choose correct form of verb.
(a) reach (b)reached (c) reaching (d) reaches
08. | a book yesterday. Choose correct form of verb.
(a) buy (b) buys (c) buying (d) bought
09. How do you ? Choose correct form of verb.
(a) feel (b) feels (c)feeling (d) felt
10. My daughter is well. Choose correct form of verb.
(a) grow (b) growing (c) grows (d)grown
11.1 food daily. Choose correct form of verb.
(a) eat (b)eats (c)ate (d)eaten
1 BLC o P SRS NN ] U o



12. May | in? Choose correct form of verb.

(a) come (b)came (c)coming
13. The boys football, choose correct form of verb.
(a) playing (b)played (c)play

14. He me a secret, choose correct form of verb.
(a) tell (b)tells (c)told

15. They in field, choose correct form of verb.

(a) work (b)worked (c)works

16 .How many parts of speech are there?

(a)9 (b)7 (c)5
17. pen, dog, work is the example of ?
(a) verb (b)adverb (c)noun

18. My toys are beautiful, underlined word is called:

(a) adjective (b)pronoun (c)article

19. A word used to describe an action, state or occurrence is called:

(@) noun (b)adjective (c)verb

20. Ouch that hurts! underlined word is called:

(@) noun (b)interjection (c)verb
21. He likes juices sweets.
(a) on (b)in (c)the

22.How many numbers of articles are there ?
(a) 2 (b)3 (c)4

23. He came in secretly., underlined word is a/an.

(a) noun (b)adjective (c)verb

24. choose a correct preposition. “Someone is the door.”
(a)in (b)at (c)on

25. choose a correct preposition, “it is elephant.”

(d)none of these

(d)plays

(d)none of these

(d)working

(d)6

(d)pronoun

(d)verb

(d)adverb

(d)adverb

(d)and

(d)5

(d)adverb

(d)of
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Subjective
Qi#1: Translate the following paragraphs into Urdu. (Any 2) (2x5=10)

1. Women in Islam stand shoulder to shoulder with men. This status of women is unprecedented in the known
history of human mind. This raised position of women in Islam is very well defined. Islam grants women the right
of ownership and right to inheritance. They can engage in trade and have their own property.

2. There is a small museum above the gate in the chambers. The relics displayed there are attributed to the
Rasoolullah(#8) his daughter Hazrat Fatima-Tu-Zahra(lis <0l o)) and his son-in-law Hazrat Ali <0l 2))
(4x. These relics were brought to the sub-continent by Amir Taimoor. They include: a cap, white trousers,
a green coat, a slipper worn by Hazrat Muhammad(&8) the mark of his foot prints impressed on a sand-
colored stone and his banner with the verses of the Holy Quran on it.

3. Hazrat Umar(4<s b w2) was a stern caliph and he never compromised in matters of justice and
accountability. People accepted his severe punishments as they were just and according to the Holy Quran
and Sunnah. Once when his son, Abdul Rahman committed a crime, he was also inflicted lashes as per the
demand of the law.

Q#2: Give answers of the following questions. (Any 5) ~ (5x2=10)
1. Why did Hazrat Umar (4 <l o)) cry? 2. What routine activities did the Rasoolullah (#)do himself?
3. How does Islam treat women? 4. How do rural women help the men folk?

5. Why were Ayesha and Talha‘excited? 6. In how many years was Bad Shashi Musjid completed?
7. What did the Rasoolullah (£8)say about Hazrat Umar (s <0l (o2))?

Q #3: Write down summary from the given topics. (Any 1) (10)
1) “Hunger” (OR) 2) “Books”

Q#4: Change into negative & interrogative sentences. (Any 10) (10x1=10)
1. He works day and night. (Change into negative)

2.l am reading a book. (Change into negative)

3. It has been raining since morning. (Change into negative)

4. He is reciting the Holy Quran. (Change into negative)

5. The gardener was pickling the fruit in the morning. (Change into negative)

6. She will stay at home. (Change into negative)

7.1 ate an apple in the morning. (Change into interrogative)

8. We won the match. (Change into interrogative)

9. They were making a noise in the class. (Change into interrogative)

10. The gardener was picking the fruit in the morning. (Change into interrogative)

11. I shall help you. (Change into interrogative)

12. Shoaib will soon build a new house. (Change into interrogative)

Q#5: Write essay from the given topics. (Any 1) (10)
1) A True Muslim 2) Kashmir Issue 3) Sports and Games

Qi#t6: Change the narration of the following sentences. (Any10) (10x1=10)
1. She will say, “I am hungry.” 2. He said to me, “Allah is one.”

3. He said to me, “I shall take rest.” 4. He said to us, “I was your class fellow.”

5. 1told you, “You have done well”. 6. He said, “I liked your parents”.

7. 1tell him, “I shall lend you, my camera.” 8. | told her, “You have done well.”

9. He said, “May you, success!” 10. He said, “The man will come.”

11. He said, “The king is coming now.” 12.The boy said, “l was sick yesterday.

Q#7: Translate the paragraph into English: (Any 1) (15)
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Q#1: Encircle correct option: (5X1=5)

01: “Frozen” means: having turned into

(a)liquid (b)ice (c)foam (d)smog

02: “Creed” means:

(a)religious beliefs (b)social beliefs

03: Meaning of word “appetite” is:

(a)desire for food (b)aptitude

04: Synonym of “figure out” is:

(a)problem (b)shapes (c)speech
05: “scarcity” means.
(a)high supply (b)short supply (c)huge supply

Q#2: Choose correct form of verb according to sentence.

01: | hope you a good health now.

(a)enjoys (b)were enjoying  (c)has enjoyed
02: 1| for him for two hours.

(a)waited (b)will wait (c)had waited
03: Let us Madani Channel.

(a)watch (b)should watch (c)watched
04: The teacher them to come in time.

(a)is advised (b)advised (c)advising

05: she for Karachi tomorrow.

(a)leave (b)is leaving (c)left

06: Hard work never waste.

(a)go (b)goes (c)is going

07: He just out.

(a)go (b)went (c)gone

08: The police the thief.

(a)arresting (b)is arrested (c)was arrested
09: They were afraid of the truth.

(a)tell (b)to tell (c)telling

(c)cultural beliefs

(c)desire to grow

(d)none of these

(d)desire for power

(d)solve

(d)large supply
(10x1=10)

(d)will be enjoying

(d)have been waiting

(d)to watch

(d)have advise

(d)leaving

(d)will going

(d)will go

(d)arrested

(d)tells
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10: It was in the storm.
(a)break (b)breaking (c)broken

Q#3: Choose correct option according to grammar.

01: He is ashamed his action.

(a)on (b)at (c)of
02: She does not care me.

(a)on (b)about (c)from

03: He is a lazy boy. Underlined word is a/an:

(a)noun (b)adverb (c)pronoun

04: She speaks loudly. Underlined word is a/an:

(a)pronoun (b)adjective (c)adverb

05: He invited me at dinner.

(a)a (b)the (c)an

06: He is the boy who stole my pen. The underlined word is a/an:
(a)noun (b)pronoun (c)verb

07: They were angry me.

(a)on (b)at (c)in

08: Be careful you should be deceived.

(a)if (b)when (c)lest

09: Wow! What a nice journey! The underlined word is an interjection expressing
(a)hesitation (b)doubt (c)amazement
10: The secret is you and me.

(a)in (b)between (c)on

(d)have broken

(d)over

(d)of

(d)adjective

(d)verb

(d)or

(d)article

(d)for

(d)Wether

(d)surprise

(d)into

(10x1=10)
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Qi#1: Answer the following questions. (Any 5) (5x2=10)
1. What is meant by simplicity and humility? 2. Why did the son hide his mother in the closet?

3. What are the main sources of water in Pakistan? 4. Why did Hazrat Umar did not eat wheat bread?

5. How important do you think dreams are? Explain.

6. How did Hazrat Muhammad (28! @) treat his foster sister?

7. What measures can we take to overcome water shortage in Pakistan?

Q#2: Translate into Urdu. (Any 2) (2x5=10)
1. The problem faced by the water sector in the country are many acute and serious. Therefore, building of more
reservoirs and effective management strategy are the need of the hour. We should therefore save now to prevent war.
2. Hazrat Umar («s 40l o)) led a very simple life. His standard of living was in no case higher than an
ordinary man. Everyone had easy access to Hazrat Umar (4s 4l s&)) and every person was free to
guestion his action. He was kind and sympathetic to the needy. Unstinted service to humanity was his
foremost concern.

3. If we make simplicity and humility a part of our personality, our social behavior will be considerate and
genuine, our happiness will be unadulterated and we will not recoil our heads in pride but bow them in
humility and affections.

Q#3: Write down summary of poem. (Any 1) (10)
1) “In spite of War” (OR) 2) “Equipment”

Q#4: Do as directed. (Any 10) (10x1=10)

1. Tahir was going to a meeting. (Change into negative)

2. Teacher praised the students. (Change into interrogative)

3. We have lost our Keys. (Change into negative)

4. This room has been painted blue. (Change into interrogative)

5. He goes to library every evening. (Change into negative)

6. | have paid my loan. (Change into interrogative)

7. The child has been crying for an hour. (Change into negative)

8. She cleaned the house in morning. (Change into interrogative)

9. We had already learnt this lesson. (Change into negative)

10. The patient will recover soon. (Change into interrogative)

11. They will have set out before the sunset. (Change into negative)

12. He will have gone to bed before 10:00 pm. (Change into interrogative)

Qi#5: Write an essay from the given topics. (Any 1) (10)

1) Health is wealth 2) An ideal student  or 3) Courtesy

Qi#6: Change the following sentences into indirect speech. (Any 10) (10x1=10)

1. He said, “I shall stand by you forever.” 2. He said, “Always trust Allah.”

3. I'll do it tomorrow. “I said. 4. He said, “I shall buy your ticket as well.”

5. Ali said, “Hurrah! Pakistan has won the match. 6. He said to me, “May you succeed.”

7. She will say, “l am hungry.” 8. He said, “The man will come.”

9.The stronger says, “I do not like to stay with you.” 10. | said to the children, “can’t you stop quarrelling”?

11. The boy said to his friend, “l can hear you.” 12. The teacher said to the students, “You must abide by the low.”

Q#7; Translate the passage into English. (Any 1) (15)
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20 marks Encircle the correct option:ufbﬁu’w/ PAST XV

Q#1:Degree of Quadratic equation is
(@ 2 (b) 3

Q#2:How many maximum roots of quadratic

equation are .......
(@ 4 (b)2

Q#3:Standard form of quadratic equation
(a) ax+b=0 (b)ax*+c=0
Q#4:A set having no elements is called :
(a)subset wr (b)empty setexrdl
Q#5:The set {1,2,3,...10}1s :

(a)Finite sety. (b)empty seterdb

Q#6.-If A BThen AIB = — — — — — —

(a)B (b)A

Q#7:1f y= 4x+9 and x=3 then y is -------
(a)21 (b)31

Q#8:Histogram is garph of ----------- :

: (a)Frequency (b) ogive $s

distribution (=~ >4

Q#9:Sum of devation taken from mean is

always

(a)3 (b) 2

Q#10:A data in the form of frequency

distribution is called -------- data .

(2)ungrouped ./ & (b)grouped s/

Emmmmmmmmmmmmme e o tsls S

©1 (d)-2
_‘auju(jao:&)cu&)({oblx&u»

(01 (d3

_‘L(ﬁ.d/?/“j&)l’f&/}»

(¢)ax*+bx+c=0 (dax’+bx*+c=-0

,‘aw‘f --------- o QI el

(c)power set erus,  (d)singleton seterCh

e {123, 10} e,

(c)subset ex (¥ (dInfinite set 4 &
-------------- ANB3x ACB ./l
(¢c) AUB (d) ANB
U — Jy=4x+9 and X=3 ./
(0) 41 (D51
—g e Jl/'//g"l/'//;"’f
() ungroup data () lower class limit &
)l/(ju/’/ﬁ; ,wd/é
_‘QU'U?J/}‘[L/JIKJ!/UJ.L:V
(o1 (d)0
T ——Ty L -t P TW
(frequency s+ (d)classes ULz

1] SO Y



Q#11:A circle is the ------- of moving point in
place .
(a)@locus ¥ (b) )Center /

Q#12:0ne and only one circle can pass through

non collinear point
i(a)(a)2 (b)3

Q#13:Radius of circle are ;
(a)triple of diameter
Lergs

Q#14: The angle in semi-circle is -----
(a)right angle )46 (b)equal (st~

(b)unequal $:l-+ &

Q#15: The angle in a segments greater than
semi-circle-------

(a)greater then right (b) less the right
angle 17« s 46 angle V58 « o9 46
Q#16: Tangent can be drawn from a point
outside the circle

(a(a)2 (b) 8
Q#17:Diameter of a circle is ----- of the radius
(a)doublel’s> (b) triple L3

Q#18: An angle inscribed in a semi-circle is ---

(2)60° (b)90°

Q#19:Solution set of x*+10x+24=0 are

Q#20: solution of 3x=9 i§ ----------
(a)x=2

e bymmee L5t 7 o 15l

(¢) radius U1ss (d) diameters £

b e sy P ol Iy Y

(c)4 (D1
Y sl s
(c) equalst~ (d)secant ¢
e S e s i
(c)double ey (d a, ¢ both anicUss

. . s
S d:l/uﬁ,zb)L"/,Lo/l)g.MJ

(c) right angle .76 (d) none of these v=u)
22 S8
-uji{;?‘w JW - 40/’1;;&&%&;]1;

(c)4 (d2
c byr—mnee K13 £60 71
(c) 4 times U4 (d) 5 times U5
_‘LL"}?K ———————— d}!)/r‘;Uﬁo//l}J-fJ
(c)180° (d150°
«erEx+10x+24=0
(©) {6,4} (d) {6,4}
‘ggf ¥ 3x=9
(c)x=3 (dx=5

2 BT FRIPHINW 34
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(Short QUEStIONS) i | Gue yuind
504 F:c b5y L_gf S erioe $Fe y 15

1.Solve by factorization 3-4x-7x° =0 ‘éfdf",gu
2 .Solve using quadratic formula 2x°+7x+3=0 "éf:,;yd/ﬂy‘/li
3.Solve by completing square : x*-3x-10=0 _’é‘fd/,}ju}
4 Solve the following equation: 6x-7x°+1=0 _éff&bt/gjﬁ@m
5.Solve the following equationV3Xx + 4 =2x+1 _éJaf&bt/JﬁGu
6.Solve the following equation X + \/m =4 _’é‘fﬁ/abb‘g}:}@m
[.0fc={2,5,7,7}b={9,12,13,15, then find CUD _’é()’”chD
8.1fU=1{0,1,2,3,4,} A=, B={0} then prove (ANB) =A"Us* V’é:/,l:";;nf"
9.5olve the following equation X — V7 + 1=-1 _éff&'ﬁwd39/)
10.Find the xand y if (x-4,y+3)=(1,-4) -’é(}*’.wfgfx,y
11 .Find the arithmetic mean of -’é(}l’”b/ﬂdv

51,47,40,35,55,59,46,52,60,45

Sl b 10 USs0 U e 0L

12 .Find the Mode of the marks of 10 students Ina test

of mathematic( out of 50)45,56,51,40,55,52,56

13.Find the geometric of observation 4,16 and 64 by using ~é(#b/}’d/§.ﬁ.’c&’{w
basic formula

14 .Define the circle ? -"ég.@/.](}/o/b
15.Define the central angle ? -’é....?/."(jd;!)d/’(/

__(Short Questions)ed|gm Juioda
304 S b 10l pog S F ety 3eF e S

1.QSolve the following equation -éﬂffﬁdUVJ3G/J

V2 +2x4+9 + Va2 +2x + 16 =7 ’ -

2.Solve usin iatic fi I - .
0 g quadriatic formula -éJacu‘JU}”/b

4y +4y-3=0

3.1fA= {-2,-1,0,1,},B={1,2} then find two Ax Band BxAJ» A={-2,-1,0,1,},B={1,2} /!

binary relation
AX B and B X A awlso write ist domain and range

4 .Find the arithmetic mean, madian and mode of the _érwo;wuwmwv

following data ,45,32,36,48,45,24,28,35,46,40, ’ - :

5.Compute the geometric mean and harmonic means gpl’”.lzxﬂffﬂnlbmfﬂl
= . ¢ .

61,45,47,52,56,65,44,

3 Q)M[%JS)HU)‘M‘%
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(MCQ’s)
(20x1=20)
Q#1: Alinear equation in one variable is of degree. _q.t'n..w%&bv&}uf/f”.gml
(a)3 (b)O (c)1 (d)2
Q#2: Solution set of (x-2)° = 4 is e Fix-2)"=4 .02
(@){-6,-2} (b){2,6} (c){-6,2} (d){0,4}
Q# 3: Factorization of x'-161s . éu’ﬁf x'-16:03
(@)(x-2) (x+2) (x-4) (b) (x-2) (x+2) (€) (x-2)(x+2) (xX"+4) (d)(x-2)°
Q#4: Solution set of 3x"+x-2=0is. 2 S35 +x-2=0:04
(){1,5} (b){1,5} (912,35} (d) {-1,5}
Q#5: Solution set of x’-6x+5=0. e e S6 x*-6x+5=0:05
(@){1,-5} (b){0, -1} (c){-1,5} (d){1,5}
Q#6: Solution of x*-9=0. S x*-9=0:06
(@){9} (b){+3} (c){3} (d){+9}
Q#7: (a+b)’— (a-b)* = ?
(a)2(a’+b?) (b)4ab (c)-4ab (d)a’+b’
Q#8: (a+b)’ + (a-b)* = ?
(a)-4ab (b)a’+b’ (c)4ab (d)2(a’+b°)
Q#9: Anirrational number that contain radical signs is called a; ‘Lt'llnr_-__n/jyuf(/}')ﬁ JLL/{..Q :09
(a)mixed surd (JU',&"‘J:& (b)surd (’Ulﬁf
(c)rational number ;,WJ‘I’L' (d)natural number;ﬁgus
Q#10: Surd can be multiplied if they are of the. ,unuﬁ%[}élgd;b’fﬁ,{(al@l}’»: 10
(a)same order ,?uulff (b)order 2 (533> (c)n.ordern 5. (d)different order § Uz i
Q#11: Alinear polynomial is of degree. -%bng/)g(}//éf&/)vg: 11
(a)0 (b)1 (c)2 (d)3
Q#12: Factorization of (x+3) ~ /-4, u’fjg(x+3) ~r4:12
(@)(x+1) (x+5) (b)(x+1) (x-5) (c)(x-1) (x+5) (d)(x-1) (x-5)
Q#13: Factorization of x3-y3 is = dfj(fx3-y3 113

1 b G350 0 15



(a)(x-y) (X" +y°) (b)(x-y) (X +xy+y") () (x-y) (X-xy+y’)  (d)(x+y) (X" +xy+y’)

Q#14: Factorizationofa — 1 is = q—f:'(}/a‘l—l 114
(a) (a-1) (a+1) (a’+1) (b) (a-1) (a’+1) (c) (a+1) (@°+1)  (d)(a’+1) (a+1)

Q#15: If x-ais afactor of p(x), thenp(a)= s P(a) = ?n(}/’;ZKP(x), X-a fl: 15
(a) O (b) 1 (c)-a (d) a

Q#16: OrderofQ = [4 7]. -« 2 ,6Q=[47]:16
(a) 1x3 (b) 1x2 (c) 2x3 (d) 1x4

Q#17: Anumber of rows and columns in a matrix determine its: f.---ufb/l? Of;l,v." Ju:)b)'u’/@

_4‘,8)//;[5
(a) Order .» / (b) Rows (] /& (c) Columns HK (d) Determinate (‘f"g'

Q#18: A matrix consisting of one row is called: C‘—bMﬂ/@uguru%h:/JG‘: 18
(a) Row matrix & S& (b) Column matrix —*¢ (}Jg
(c) Identity matrix _’JG'(ZUQ/" (d) Scalar matrix _,B'/ké

Q#19: Inmatrix (AB) " = ? 2L U6 B =719
(a) A (b)B™ (c)B'A" (d)A'B”

Q#20: In a unit matrix diagonal elements are: -ujf_nuwi}} ufdl?(}bd/._«g :20
(a) 3 (b) 2 (c)1 (c)O

2 ol G350 0 18
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(Short Questions)
(5x10=50)
Q#1: IfP(x) = 2xX°+2x°+x-1, then find P(-2). ~LF P P(-2) P (x) = 25 +2x7 +x-151:01
Q#2: Solve (2x+3y)3 by using formula. -Q:)/JOL)MJL}”/G(ZX+ 3y)3 :02
Q#3: Simplify the expression \/E+\/§ \/§+\/§Jnf/‘.g?/&:03
Q#4: Factorize 2a’-bc-2ab+ac. 2a’-bc-2ab+ac u:fdf :04
Q#5: Resolve into factors x°+ 6ax+9a’-16b’. x°+6ax+9a’-16b" ’%l’«.d/}ff. :05
Q#6: Factorize X" +5x-14. X’ +5x-14 éu’f:’:OG
Q#7: Factorize 27-1000y". 27-1000y° édf:o7
Q#8: Factorize z°+125. z2>"125 édf:os
Q#9: Solve by factorization method. X' =8-7x x> =8-7x J]/Jiu’;;bi :09
Q#10: Solve by completing square method x*+6x-3=0. X +6x-3=0 u’ffd/f ;’M 10
Q#11: Differentiate between rectangular and square matrices. u’f/f U/J"Jb dj/u'uu/ 11
2 3 4 0 1 5 2 3 4
Q#12: IfA=|1 5 5] , B=[2 3 6 ]thenfind“A-B”. -J)/r)-'* “A-B” Yy A=|1 5 5] [ lﬁ 12
4 9 3 1 4 -2
Q#13: Identify the given matrix is singular or non-singular matrix [ a b] [—a b] uli”'/:l,/l,r‘_/:l, Jb u?/» 13
Q#14:Letm=[; Z]findm™. g miem=[! 2 Ai:14
Q#15: Complete the formula (a-b)3. (a-b)3 u:)/ :'K: 15
(Long Questions)
(3x10=30)

2x+y=1, 5x+3y=2-J S S F bl a2 FL 47 01
Q#1: Use Cramer s rule to solve this simultaneous equation 2x+y=1, 5x+3y=2.
Q#2: Solve by completing square method. x2-6x-3=0. x2-6x-3=0-u:ff¢,@,/ié/gff“:02
X +2y, x +2°, x-2_uﬁz}gc‘—Qﬁ)f?&/?&&/?d/ﬂ/@fﬂw/ﬂi(‘:ﬁj:03
Q# 3: Determine whether the second polynomial is a factor of the first polynomial without dividing. x9+2y, x9+29,x-2
ab+bc+ca=11. a+b+c=6.{«/?_g[)/(}’”;‘<’jd/a2+b2+c2 :04

Q#4: Finda +b’+c when ab+bc+ca=11 and a+b+c=6.

Q#5: Define any 5 terms. ,’éug ;‘«@/?JLBW'@&J(}?/:OS
(i)Circle »./1 (ii)Right angle ,:51},?5' (iii)Radius J 15~
(iv)Column matrix /& u)K (v)Minor arc /.'Tlu’;’. (vi)Equal angle »2li$sl+
(vii)Diameter & (viii)ldentity matrix <& J3~

3 Q)M[%JS)HU)‘M‘%



81445/22024\adiol a3l

A Ol 5,0 0 o151 AN/
(WA o Y ppaale: 20 %

20: / gf <30 :c)'uf Y NS 19-02-2024:?3/& KANZULMADARIBO S
SN 26 L EeE T o s LGS
(MCQ’s)
(20x1=20)

Q#1: X +9x+20= (x+0) (x+O). .01
(a) 4,5 (b) -4,-5 (c)-4,5 (d) 4,-5

Q#2: Common factor of (2x-6)is :02
(a) x(2-6) (b) 2(x-3) () 2(x-6) (d) 6(2x-1)

Q#3:a +b’+3ab(a+b) = .03
(a) a’+b’ (b) (a+b)’ (c) (a-b)’ (d)a’-b’

Q#4: (5y)° = 104
(a) 25y° (b) 125y° (c) 125y° (c) 15y°

Q#5: (2xy) = (0°-30y+30y™y 03
(a) 2x (b) 6x (c)8x (d) 12x

Q#6: Simplify of 3(x) (i) s —e A1 3(x) (i) :06
(a)3x" (b)> ()= (d) 3

X X

Q#7: (xy) (X +xy+y )= :07
(a) (x-y)’ (b) X’y (c) (x+y)’ (d) X'~y

Q#8:ab’ (b-a)=__ .08
(a) a’b’-a’b’ (b) a’b® - a°b’ (c)a’b-ab’ (d) ab

Q#9: Squareof 1is _:c‘-(j/gl :09
(a) 1° (b) 1.1 (c)2 (d) 1

Q#10: Simplify of 1005°is —<ASPI€ 1005°:10
(a) 10100025 (b) 1010025 (c) 10100 (d) 10010025

Q#11: s denoted on paper by a smaller dot. et e YE LSy ikF i1
(a) Point 5 (b) Arrowj (c) Straight Iine/-:.gupjy (d) Arc J}

Q#12: Anangle of 90°is _c‘,,;u‘&d)’ﬁgo 112

(a) Right Angle :/)UJG' (b) Acute »slissle (c) Supplement :,AU(;’}C.L../ (d) Obtuse :u'),?;"’;’
Q#13:a —2ab+b’ = 113

(a) (a-b)’ (b) a’-b° (c) a-b (d) (a+b)’

1 b G350 0 15



Q#14:

Q#15:

Q#16:

Q#17:

Q#18:

Q#19:

Q#20:

(a-b) (a’+ab+b’) = 114
(a) a +b’ (b) (a+b)’ (c)a’-b’ (d) (a-b)’

An angle of less than 90 degree iscalled o uj‘if&rﬂjﬁ_b(jad}’mo 115
(a) Right angle d}']JL? (b) Acute angle 4slissl

(c) Supplementary angle 55']&}{? (d) Complementary angle ,:)Udffg/
_____arerepresented by capital English letters. bl g[w:;o/f)bb](fu;}f ___:16
(a) Circle 0 A1) (b) Matrices u;.JG' (c) Ray CW (d) Arc J}
Zeromatrixisalsocalled o c‘—l‘:Ufb/l?}‘ 117
(a) Null d/’" (b) Unit L}Lw (c) Identify/"&ﬁ (d) Singular sst

Addition of two matricesis ch._c"&/u,?ﬁ'u :18
(a) Commutative property ¥ =2l (b) Additive property b 3%

(c) Co-efficient (14 (d) Determinant

A 2x2 matrix has tworows _____ column. VUZZ_;’LHK_ 2B s L A 2 x2:19
(a) 1 (b) 2 (c)3 (d) 4

If the sum of measures of two angle is 180° called < S PRE 180;:‘{&}{:!)»;’ :20
(a) Right angle »J .7 (b) Obtuse angle 43+~

(c) supplementary angle ,:AUUP.??.( (c) Complementary angle ,:;Ud;/'fg

2 b G350 0 15



21445/2024 kel aallus

A O G50 0 S _ (I
(bl : o bL: 24 ppaale: 203 @}b

S 807 0308205 s 10-02-2024:5up  rewsknsiom

(Short Questions)
(10x5=50) )
Q#1: Define variable and polynomial. -qfwuufcf//f-&!/é’" :01
Q#2: Write the following expressions in the descending order and ascending order. (Any 1)
(149) o Somo il s s 228 Uy AP ) 5:02
()y +y-2y°-1 (ii)4a*-3-5a-a"
Q+#3: Find the product. (Y (y+9) (y-9) (i) (x+y-2) (x-y+2) _u"fr}'k,/d‘%:m

Q#4: Simplify (i)x°-5x+6) + (x-2) _uj/ﬁ:m

Q#5: Factorise.(Any 1) (i)6x2yz+9xy22+12xyz2 (ii)5x3y+ 15x2y2-5xy -é(jf (1(}?/) :05
1 1 1 . " 1

Q#6: Find the value of x2+X—2, when x-; =m x-; =m ﬁq’f&ﬂ&/;oxj (3/x2+x—2 :06

Q+# 7 :Use an appropriate formula to simplify. () (V5+v3) (V5-v/3) (ii)1025 x 975 -J“f/u’?igdjjc;;»gf"iqbﬂ:07

.. 2.36X2.36—.04x.04 P
Q# 8:Simplify by using appropriate formula. (i) XZ 36104 X -Q)//";L)»J“é :08

Q#9: Find the cube: (i)m+n (ii)3a-2b :09_%’;"}1”..«’4’
Q#10: Using formula find the continued products. -ﬂé()w..,/‘)“‘ud'y‘;méagf: 10
() (x+y) (X-xy+y") (x-y) (< +xy+y’)
Q#11: Find following matrices. A+B. (Any 1) -L):)/()’“‘%JG’JS,?/A’-’ ‘11
N ) 0 -2 N -1 015 _J2 -1
(|)[2 5]+[_2 _4 or(u)lfA—[2 S]B_[O 3]

Q#12:1t0= |2 ¥|,c=[5 7] Findco. g eoin=[; ] c=[5 NELEE:

Q+#1 3: Find singular and Non-singular matrices from the following. gt %/JG'/JL’/:;/)’%/JG’JJL’L ufuyli'd}q/ﬂ: 13
~[2 8 1 0
(')[3 12 (”)[o 1
Q#14: Define complementary angles and supplementary angles. wbagé_al/’d}{knldﬂ‘y/
NYSALY:
Q#15: Find the value of x3+y3 when x+y=1, xy=12. x+y=1,xy=12 ,J??é(}wof’j&x3+y3 1
(Long Questions)
(10x3=30)

Q#1: Define the following.  (Any 3) *(uféi) _q)/.:»u;JJs,;/p:m
(i)Circle s A1) (ii)Radius J1ss (iii)Chord /»  (iv)Monomial (f/h-«g (v)Formulae ,{K

Q#2: Find the value ofx3+%3 when x + i =4 X + i =4 ,ﬁq’frﬁl’”;«?:'(jx3+i3 :02

Q+#3: Solve by using matrices. (Any 1) (..«g(j?/) ,u:)/gfcg—ﬁl?LU).JG'Q/U;ULMU(?J”};/,W:03
(i)2x+3y=5, x-y=0 (ii)3x+5y=2, 2x+4y=3

1 . 1. 1 %
Q#a:IfA=|/2 3],FindA1 I AT I A=z 3] 7
—4 5 -4 5

:04
Q#5: Simplify by using formulae.  (Any 2) 2d9) -y F A e snlL 05

_ > . ) >  .89X.89x.89 —.64'X.64 X .64
(i)(698) (ii)(7.8) " —2x3.9x2x4.8 +(4.8) (iii)
.89 x .89+ .89 X.64+ .64 X .64

3 Q)M[%JS)HU)‘M‘%
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Q#1: Algebraic expressions are. Y 2V gy Se— AT /4 [

(a)2 (b)3 (c)4 (D)6
M2 (atb)+Ha-b)’=?

(a) 2(a’+b) (b) 2(a*-b*) (c)4ab (d4(a+b)
Q#3:(a-b)(a*+ab+b*)

(a) a’+b’ (b) a’-b’ () (a-by’ (d) (a+b)’
Q#4: (-3)x(-3)=

()4 (b)6 (c)9 (d-9
Q#5:The factors of are. 4x>-1 -~y i1l Ax3-1
(a) 2x-1D(2x+1) (b) (4x-D2x+1) () 2x-D(2x-1) (d) 4x-1DEx+1D)
Q#6What is the degree of a non-zero polynomial? S st 3 -2 3 L
(a)3 (b) 2 (©)0 (D1
Q#7: Quadratic equations is the degree of RSN 1Y
()4 (b)3 (©)2 (d-1
Q#8: The solution set of x2-2x+1=0? x2-2x+1=0‘4‘f
() -1,0 (b)1 (c)-1 (d1,-1
Q#9: How many ways are quadratic equations solved? e tbf Ui S e tslrGarss
()l (b)2 (©)3 (da
Q#10: The factors of. x>-25 X*-25_urd et
(a) (x-5)(x+5) (b) (x-5)(x-5) (c) (x+5)(x+5) (d) (5x)(5x)
Q#11:In Matrices (AB)'= S udE(AB)'=
(2 A'B' (b) B'A' (c) BH+A' (d) A'-B'
Q# 12:A Matrix consisting of only one row is called _ug’:&/___ /. _,JL;'JS’"" 4 5 L1 2
(a)unit matrix /3wt (b)diagonal matrix /555 () column matrix 6 (dRow matrix 6.5

1] SO Y



Q#:13The Matrix in which the number of rows

and columns are equal is called that.

st s DS U NG G

(a)unit matrix b.)g'[}; ol (Ddiagonal matrix ~/6¢7s  (¢) Square matrix /6§ (dRow matrix /¢S

Q#14:A+B=B+A is the commutative law with respect to----.

.(a) Addition &
Q#15:The inverse of A matrix is ?

(b) subtraction J &

TV SR 5tk ol w9F ATB=B+A

(¢) multiplication — #  (d)division £~
-‘at‘LLz(---J;Q‘J‘?K@l%)G'J(

(- A (LA (c)B (d)-B
. 2 31. 2 J o J s 2 3

Q#16:Transpose of [1 5] is7? ?Knu;“’!/K[l 5]

2 1 -2 3 2 =3 2 3
@3 s ®[" @ 5] @[5 )
Q#17:Right angle is a degree of? L sr--m-- a9l A6
(a) 100 (b)90 ()80 (d)70
Q#18:The measure of equal angles is -------- _‘L&/‘ ————————— F Lgu( SIZD T
(a) different ¥ (b)equal s~ (Olarger $% (dDsmallerds#
Q#19:Two angles whose sum is ------------- Ut i }%JJ A A6 Ll
degrees are called complementary angles
()70 (b)180 (©)80 (d)90
Q#20:An acute angle is greater than ------ and less -LLU'}?K/ <9012 & —----- 2okl
than 90.
(@)0 (b)180 (c) 80 (d)90

2 b G350 0 15
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(Short QUESLIONS) el | G eeied
(10x5=50)_t ~05 LIy p_c s Fé=ir10f 29

1) Factorize:x“+8x+16=0 S L L $# x*+8x+16=0:
2)  Solve:x*-2x+1=2 S F XP-2x+1=2
3)  Write the formula of the quadratic equation. Bl (AR
4)  If the product of two consecutive numbers is T f T
. \7/6’-ﬁn dh thednl%mber& ’ o e eI 12 2 S K 150
rite their definitions: Transpose Matrix, 508 500 501 2 6
Zero Matrix UL "32/‘“;‘-"

6) Find transpose : [f 2] :q/,»,bfj,:i}(qs[ 15

7)  Find determinant; [_21 _42] :q/pl”c‘fg'h/@[_?)l _4
8) What is the difference between singular and ¢ IS IG ot sl
0 r[l)or%_-singhular Matrix? SO G s
efine these terms: st W L T
(i)Rectangular (ii)parallelogram Ewo S5 S 1y
10) Simplify:ig:; fl‘z‘jgu/ﬁf
11)  Simplify:=— N
12)  Simplify:v225 = v25 V225 = 25 S
13)  Rationalize the denominators:1/+/3 q/ﬁ;ywu{m;@}l/ﬁ:
14)  Define Irrational numbers: 0 S d
15)  Define rational numbers: Iy P Sa by

(Long Questions) ! gu Juoda
(3x10=30)_t #10LJly pc lr Fé=iir03 .2 )
1)  Solve by completing the square L %2+ 13x+12=
Solve oy come IS ST JE 2x2H13x+12=0
2)Prove that A(B+C)=(AB+AC) if A= _21 ﬂ ; /;U/ cf-g’ A§B+C)=(ABZ+A2C)
3 1 2 2 = = =

B=[1 7] and Cz[? A A [—1 4]’ i [1 2] and C [3 4

3) Solve the equations using Cramer's Rule. _ g )
2x+y=3 , x+y=0 2X+y=u§/’/{{;ilal/¢ud/dr“£//

4)  If x=2+V/5 then find the value of x- i and U X % and x*+ xizﬂ;e x=2+5/]

X2+ %

S)Factorize: 4a™-5x°y“+y" S a5y

3 SO Y
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(MCQ’s)
(20x1=20)
Q#1: (a+b)’+(a-b)’=_ 101
(a) 3(a’+b°) (b) 2(a’+b?) (c) (a°+b°) (d)4ab
Q#2: a’+b’+3a’b+3ab’ = 102
(a) (a-b)’ (b) (a+b)’ (c)a’+b’ (d)a’

Q#3: The process in which surds appear in numerator only is called

_q_bw—c‘—bnuf/?d/(i'@&'»ufffu:03

(a) algebric formula U}*‘/Gd/.'%’ (b) rationalization :«:’ibl: (c) root Ja (d) factor theorem U}"/Bb’u’fn

Q#4: Factorsofa>-b° are: < —u’f.“(gas—bB:04
(a) (a+b) (a’-ab+b’) (b) (a-b) (a’+ab+b’) (c) (a+b) (a’+ab-b*) (d) (a+b) (a’+ab+b?)

Q#5: x2-xy-xz+yz = :05
(a) (x+y) (x+2) (b) (x+y) (x-2) (€)(x-y) (x-z) (d) (x-y) (x+2)

Q#6: 2x2y+ 8xy = :06
(a) 2xy (x+4y) (b) xy (2+38) (c) 2xy (x-4y) (d) (zx+4y)

Q#7: The degree of a quardratic equationis: - _ ,?ug:«bl/ $s323:07
(a) 4 (b) 2 (c)1 (d) 3

Q#8: The formula used to solve a quadratic equationiscalled __ -< t‘ndlﬁ"l:f_ iLLJ/Jaf‘f.uu :08
(a) algebraic theorem U}"/Gd[{" (b) quardratic formula ,zgcf.uu
(c) remainder theorem gt L (d) rationalization =20

Q#9: A quardratic equationis solvedby  methods. ,‘48;’4 Jpc;uf‘?./ -2 £ &/:;;4:09
(a) 2 (b) 3 (o)1 (d) 4

Q#10: Number of roots for the equation x*-2x+1=0 are: _ -q,_;lﬁddpix2-2x+1=0: 10
(a) 1 (b) 2 (c)O (d) 3

Q#11: Quardratic formulais: - _ ,:KJ./;»: 11
(a) X= +b+\/@ (b) X=-b+ [P
(c) X= -b |22 (d) X=+ |22

2a 2a
-UZQ/"ZJ'Z'  dedslrSusssi12

1 b G350 0 15



Q#12:

Q#13:

Q#14:

Q#15:

Q#16:

Q#17:

Q#18:

Q#109:

Q#20:

A quadratic equation can factorized into ----- factors

(a) 3 (b) 0 (c) 2 (d)1

_%VM _ngf’bﬂf’c‘g;gﬁu’éﬁg/ui/&ﬂu:13
An expression which can give the original expression by multiplying some other expression is called
(a) Root uw (b) Degree <. (c) Factor 6/’7 (d) Quardratic formula ,zﬁ( /33
K QFapin el AL AL Fla

If the product of two factors is zero. Then each factor equal to

(a) 1 (b) O (c) negative (d) positive

x2+3x+5isa_. ~§._x2+3x+5:15
(a) Surd fiu,)l.'a'» (b) equation < /sl~ (c) polynomial (?//?/ (d) rational expression ,.lZJbl:
xz)fl-l sa___.. < — x;:l:16
(a) Rational expression ,L‘Tu"}’l: (b) Surd Kil@@» (c) Polynomial (?//?/ (d) equation & fsl~
The rationalized form of\/% is . :%fg’lgloé)C/Jluf&/ﬂJbtfv%: 17
(a) j—i (b) V1 (©VZ+1 (d) V2

(a-b)’=_

(a) a’-b>-3ab(a-b)  (b)a’-b’+3ab (c)a™b’ (d) a*-b°-2ab

Which one is second order surd? ?Q)/u?}@Jf!J,;G’A&/));: 19
(a) 2 (b) 45 () V7 (d) 3v7

W5 - (5’ =__ . 20
(a) (V5-v3) (V5-V15) (b) V15 -9 (c) (8+v15) (c)V5++3

2 BLEIM A U TSNV}
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(Short Questions)
(5x10=50)
Q#1: Simplify with formula. (5x+2y)°- (5x-2y)° (5x+2y)°- (5x-2y)° -;{fﬁ?:—:»gﬂfJG:Ol
Q#2: Find the value of ab whena+b = 50 and a-b = 16. -u:f")b‘” ab 9 a+b =50 ., a-b=16:02
Q# 3: Define polynomial with example. Q;uﬁfdt‘w;lq}/.fq}(fc}/;: 03
Q#4: Find product: 49§z::y2 , ;:zy 49iz::y2 , ;:;} uj(}’fy/q)’u :04
Q#5: Factorize: 3x°-2x" +18x-12 3x7-2x°+18x-12 u:fdf.“:OS
Q#6: Factorize the following expressions: ab’+2b’-ab-2 ab’+2b°-ab-2 QfdeMJEGJJ:OG
Q#7: Solve the quadratic equation by factorization method: 2x°+5x+3=0 u:)/df.“‘jabl/(f./;u: 07

Q#8: The sum of a positive number and its reciprocal is 2. Find the number.

el 2 oK L g sue s L 08
Q#9: Define quardratic equation with example. -q;uf'demu/‘uyﬂfauu&mu: 09
Q#10: Without direct division, Find the remainder when X +4x°+2x+3 is divided by x+3.

WA gx38C+ad 4 2x4 302 S R QLA L A7 10

Q#11: Factorize: a’-64b’ -u:fdf“ 11
Q#12: Expand with the help of formula. (2x-3y)’ S I sy 12
Q#13: Find the value of a+b=3 when a+b, a-b=5, ab=4. gF e ed § arb=3:13
Q# 14: Find the value of expression: X2—4+?4-§at x=2,y=3,z=-2. ﬁq}/(}’*c&fﬁu’/!u

Q#15: Using appropriate formula. Find the continued product: (2a+3b) (2a-3b) (4a2+6ab+9b2)(4a2-6ab+9b2)
(2a+3b) (2a-3b) <4a2+6ab+9b2)(4a2-6ab+9b2)-Qf(k”.,/gj’wygwéj.,ﬁt»:ls

(Long Questions)
(3x10=30)

Q#1: Find the remainder of the following polynomial by remainder theorem. 2x°+7x°+4x+2 divided by x+3
,Qf(lj.{.x+3?/2x2+7x2+4x+2%_;[)/()1’”@@581/?/;;»&@(:J?":Ol
Q#2: Factorize following polynomial by factor theorem. x>-4x*-3x+18
x>-4x°-3x+18 -q’fdf.“&?//ffcwéu}msidyf .02
Q#3: Solve the question by quardratic formula. x>-8x+15=0 -fof&':bfc)ygﬂ}”/ﬁ&u» :03
Q#4: The area of arectangular plot is 460 square meter. The length of the plot is 12 meter more than its breadth.
Find the length and breadth of the plot.
_qf(ﬁfélig/;léw‘fu’l_%uyﬁ’12cétigéwgf.ug%/‘a’é/%og/&.:u;yug:04
Q#5: Solve the following quardratic equation by completing square. x*-10x+10=0

x>-10x+10=0 -u:fffgui/uug{/{»f&';k/(ﬁuudi@»:05

3 Q)M[%JS)HU)‘M‘%
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